

Opgave 1

$a =$	$b =$
$a^2 =$	$a \cdot b =$
$a \cdot b =$	$b^2 =$
	<i>Beregn</i> $(a + b) =$
	<i>Beregn</i> $(a + b)^2 =$

Opgave 2

$a =$	$b =$
$a^2 =$	$a \cdot b =$
$a \cdot b =$	$b^2 =$
	<i>Bestem</i> $(a + b) =$
	<i>Bestem</i> $(a + b)^2 =$

Opgave 3

$a =$	$b =$
$a^2 =$	$a \cdot b =$
$a \cdot b =$	$b^2 =$
	$Beregn (a + b) =$
	$Beregn (a + b)^2 =$

Opgave 4

$a =$	$b =$
$a^2 =$	$a \cdot b =$
$a \cdot b =$	$b^2 =$
	$Beregn (a + b) =$
	$Beregn (a + b)^2 =$

Eksempel

$a =$	$b =$
$a^2 =$	$a \cdot b =$
$a \cdot b =$	$b^2 =$
	Beregn $(a + b) =$
	Beregn $(a + b)^2 =$

Ekstra
